UNIT 1: SIMPLIEY EXPRESSIONS -.....:

.-Distributive Property

According to the Distributive Property,
difference in parentheses.
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I can use the distributive property
with numerical and variable
expressions,

you distribute or “pass out” a multiplication to each part of a sum o

In 2(a + 3) = 2a + 6, we “pass out” the 2 by multiplying it by both the a and the 3
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Look at the examples, and then try the ot
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With numerical expressions, whether you solve using the distributive property or using the correct order of

operations, you get the same solution.
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\ Order of Operations
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Sometimes, we need to use the distributive property to simplify variable expressions. We will simplify these

together.
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Practice

Use the distributive property to simplify.
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